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LRIt =3—4cm 93. 80 94. 00
15. OcmPA T m
BRLERGAEE t=3—4em 67.1+5.5 72. 60 73.00 |,
g B 1. 17. 20 17. 00
Sy LR, L m
g B 1. 0. 50 1.00
SRR )b HE L m3
av ) - M)W T OS{HR#EARAL, BF500 3.60 4. 00
2/ -b YR L t=8~14cmPNAk m
A RS A E JTV=FU)T B, FREHAR 3K 1. 00 1. 00
FEERAR. 7 Vv-Fv)" 2 115kg
S L4, 3kn % & =HiE =
BER T 0. 04%67. 1+0. 03%5. 5 2.85 3.00
AsHL L= 4. Oknm ms3
S BOEER  L=4km 17. 20 17. 00
S )Y A, R EARE m
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2 ) - m
4 SRV 115kg 0.12 0.12
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BEAR AR 109. 70 110. 00
N m
BERARHEEL 66. 40 66. 00
. m3
/NEUAR
5% A Efk 109. 7-66. 4/0. 90 35.92 36. 00
& 2.5km m3
7 s AN HIEE Hy 35.92 36.00 | .
FEEE R 71.2+3. 7+1. 0 75. 90 76. 00 o
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53475 # KT o R AT AT X DN L TEE ARG E
T o H B Y BB |G
N T INRDKIE THEE LY
AIZR AN e 76. 00 76.00 |
OSTIFEIFI &S 600%700 1L.=2000
AR R BGAH  undkah#E HEEO. bm 0. 50 0.50 |
OSTIFE IR &S 600%700 L=1000
| HetfEas))-h t=10cm 6. 35 6. 40 5
18-8-25BB (2% :0.83m3/10m4 V) "
XA RC-40 7.10 7.10 5
t=10cm (% - 0.93m3/10m% H) m
| A > /X— hay))-b t=5em 2.30 2.30 5
18-8-25BB (% :0.3m3/10m% ") "
7T V=FU) FEW600 ] T-25 12.00 12. 00 ¥
L=495 32.9kg/#
a/))-bE OSHITEW600 64. 00 64. 00 ¥
L=500, 99kg/#&
AJ 2SR R 4. 00 4.00 |
OSTIFEIF &S 600%700 1L.=2000
| HetfEas))-b t=15cm 0. 50 0. 50 5
18-8-25BB (2% :1.26m3/10m&H7=9) "
XA RC-40 0. 60 0. 60 5
t=15¢cm (B . 1.40m3/10m&H7- D) m
¥|A > /X— hay))-b t=5em 0.12 0.12 .
18-8-25BB (% :0.3m3/10m% ") "
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BRI EY) 1.00 100 |
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KRR & 1.00 1. 00 P
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¥[EE @z )—Fk 0. 46 0.46 | .
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(A E o R 5. 30 5. 30
m?2
W[IF L FiEea RC-40 0.15 0. 20 o
t=15. Ocm
1T V=Fu)7 % 600%600 T-25 1.00 1.00 "
S04y El THEdE 68, ke/H £
SEHNT B 2. 00 2.00 .
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/NRREIEY)
HIlFL T INRDKIE T EE LY
SGP ¢ 3001 1.00 1.00 1L
VS600%700fHEZ t=8cm
Vu ¢ 507 4. 00 4.00 1L
VS600x700fHEZ t=8cm
Vu ¢ 1004 4. 00 4.00 7L
VS600%700fHEZ t=8cm
ELE T HEE T EE
TREM% T RC-40 63. 20 63. 00
t=25.0cm 2 m2
LEgET M-25 63. 20 63. 00
t=10. 0cm 1/ m2
FE T FAEBERIEAS20F 63. 20 63.00 |
t=4. Ocm
EHr  BERET M-25 9. 30 9.00 |
t=10. Ocm
BHl 28 T AR EEAS13 9.30 9. 00 mo
t=3. Ocm
preccl i
h=7" 7% 1.00 1. 00 P
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53424 KT fEE+T HEE
p:l PR1E HEL oY i PR1E BRL
B & emEEE| ] c ] B c ]
61.00 1.4 0.9
82.00 1.4 0.9 1.40 0.90 21. 29.4 18.9
90. 00 1.4 0.9 1.40 0.90 8. 11.2 1.2
106.0-2. 3 103.70 1.4 0.9 1.40 0.90 13. 19.2 12.3
106.0-2. 3 103.70 1.4 0.7 1.40 0.80 0.0 0.0
106. 00 1.4 0.7 1.40 0.70 2. 3.2 1.6
106.0+1.7 107.70 1.4 0.7 1.40 0.70 1. 2.4 1.2
106. 0+1.7 107.70 1.4 0.9 1.40 0.80 0.0 0.0
127.00 1.4 0.9 1.40 0.90 19. 27.0 17.4
127.0+2.7 129.70 1.4 0.9 1.40 0.90 2. 3.8 2.4
127.0+2.7 129.70 1.0 0.4 1.20 0.65 0.0 0.0
142.0+1.2 143.20 1.0 0.4 1.00 0.40 13. 13.5 5.4
INEE 82. 109. 7 66. 4
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( + ) *
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FEE -
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1/2
1/2

1/2
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1/2

BERKLY
* 80.5

* 1.2

* 2.7

%

= 84.4 nm
* 3.6
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0.0
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m2
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m2
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m2
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1) AIZEliE fHtkrA THR. #ERLY
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P - & W600xtis L=495 SEHEE32 Skeg/H FERKLY
9)-tE  W600xtis L=500 &EHEE%e/HK FERKLY

EEEIE

2) "IZERE TR THR. #EHLY

i E s

0.30
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*
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0.5
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53U KT £ K it it E E G2- W600xL600xH1000
24— 18-8-258B 0.900 * 0.900 #* 1.150 - 0.600 * 0.600 * 1.000 = 0.572 m3
T 1/4 % 3.142 * ! * - m3
#738VS500 0.600 * 0.650 * 0.150 1 = -0.059 m3
BEE2BF500 0.500  0.380 * 0.150 1 = -0.029 m3
BEERnvY° U300 0.300 * 0.360 * 0.150 1 = -0.016 m3
5 b-Fu4" T-25 EFHE T REEYIEERETRP22& Y = -0.010 m3
total = 0.46 m3
B T 0.000 % 1.150 * 4 + 0.600 * 1.000 * 4 = 6540 m2
ELR 0.600 * 0.600 = 0.360 m2
T 1/4 % 3.142 ! - m2
#738VS500 0.600 * 0.650 2 = -0.780 m2
BEE2BF500 0.500 * 0.380 2 = -0.380 m2
BERnU4° U300 0.300 * 0.360 * 2 = -0.216 m2
Y -0 HEEL Y 0.600 * 0.081 % 4 = -0194 m2
total = 5,3 m2
HHME RC40~0 t=15cm 0.150 % 1.000 # 1.000 = 0.15 m3
HEEETE 1,000 % 1.000 = 1.0 m2
Fo-FurE T-25 HELAR ZRh—K E0Q2HE) SEZES49. 8+18.5=68. 3kg/# = 1 %A

BE£E H>=1.0mDZE. LEIZIECTEHRET S

)7 LYAFy7" ES$T FANN320DC-RF 1% &, = 2 @




